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4] 10)0Y-815 (AFEE) 750, 000 0] 750,000

1| 4| 18[FEFEMEAHEIH 4 59| 749, 941 59

2| 5| 1|EEEHEMSEHERSH > 19,260] 730, 681 19, 260

3| 5| 17|FEEEMHEMA 16| 730,665 16

4| 5| 31|EFEGHEEHEMA 5 8,110] 722,555 8,110

5| 6| 17|E 8 5HEE RS A 5 9,620 712,935 9, 620

6] 6| 17|FEEEHESLA 5 75 712,860 75
7 10{PH Sy (2[E1H) 750, 000 0] 1,462, 860

7] 7| 11|EEEEME RS H 5 63| 1,462, 797 63

8| 7| 11[NHKfE21E 6} 6, 138] 1,456, 659 6, 138

9| 7| 24|EEGHEERE6A 5y 10, 310] 1, 446, 349 10, 310

10 8] 2|wHE (JB)II) 90, 260| 1, 356, 089 90, 260

11| 8| 5[EIF—1% i) 60, 825| 1, 295, 264 60, 825

12| 8| 8|EEEMEHEITH 4 63| 1,295,201 63

13| 8| S|EFEGHEMERETA 5 5,280[ 1,289,921 5, 280

14| 9] 24|FEEEEHE8AH 43 90| 1,289,831 90

15 9| 26|EFE5HEAM HESH 59 800| 1,289, 031 800
10| 10)PYy-8145r (3[E1H) 750, 000 0] 2,039,031

16| 10| 10|{FEFEEEAEIOH 7> 179| 2,038, 852 179

17| 10| 15| FEEHEEE LA 5 1,570] 2,037,282 1,570

18] 10| 18[#ig2-#E (kI JEFIm) 259, 240[ 1,778, 042 259, 240

19| 10| 18|lEHiHERS Wedge 6,710] 1,771,332 6, 710

20| 11| 12|87 -BHEX v 2 GO A 94, 040] 1,865, 372 -94, 040

21] 11| 13|FEFEFEHAEI0A 7 80| 1,865, 292 80

22| 11| 13|BffE 1152 (G H) 83, 340| 1,781,952 83, 340

23| 11| 22|FE FEGHEEEHE0A 5y 420[ 1,781, 532 420

24| 11| 297"V > Z {HFESD 6, 435| 1,775,097 6, 435

25| 12| 5|EEEFEHEILA 7 130| 1,774, 967 130

26| 12| 23| =1t Adui-FEFam- i) 45,935| 1,729, 032 45, 935

271 1| 7|EFEGHEEERENLA 5 1,500| 1,727,532 1, 500

28| 1| 9|EFEMEAEII2A 5 180] 1,727, 352 180
1) 10|PYH145 (4l=1H) 750, 000 0] 2,477, 352
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29 1| 10|ETEEHMEREN2H 5y 1,190| 2,476, 162 1, 190
30| 1| 10|#HE-BTE (i) 90, 060| 2, 386, 102 90, 060
31| 1] 10[WHE-#E GFRMm- W) 181, 280| 2, 204, 822 181, 280
32] 2| 12| FHETEEFE LA 5 1,920] 2,202,902 1,920
33| 2| 12|FEEEME AN A 150[ 2,202, 752 150
34| 3| 7|EIFT—1% GEF4) 45, 935| 2,156,817 45, 935
351 3| 7|EI—1% A 60, 935| 2, 095, 882 60, 935
36| 3| 1o|wHE (Ab)II - H:F4H) 181, 320| 1,914, 562 181, 320
37) 3] 11|#HEE (hH) 105, 900] 1, 808, 662 105, 900
38| 3| 13|E TR HIEI2H 5 7,190] 1,801,472 7, 190
39| 3| 13|FEEME A EI2A 55 230 1,801, 242 230
3,000, 000] 1,198, 758| 1,801, 242 67, 170 6,710] 485,210 625, 780 7,453 6, 435 0 0
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